CUHYyC, KOCUHYC, TAHIEHC
OCTPOro yrna
NPAMOYrofibHOro
TPEYroribHMKa




Ha3BaTb KaTeT, npunexatlium K
yrny A.

HasBatb KaTeT, npunexaiimm K
yrny B.

Ha3BaTtb KaTeT,
npoTuBonexawuu yrny A.

Ha3BaTb KarTerT,
npoTuBonexawwum yrny B.




sin B =7
cosB ="?
tgB ="
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i0: AABC ¥ AAB,C,
A A o
ACB=A,C,B,=90
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ABC=A181C1
Lokaxem:
A ~
cosABC = cos AB,C,

(A,C;) L(BC), (AC)L(BC)
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(A,CyII(AC)




~
cos EDF

B

sin CAB = 3/5
cos B,A,Cy = 4

tg CKB = f"‘




L _BC
_Aac 70

S 4 = ——
AB

~ AB-sin A ~ sin A

. AB-cosA cos A

S1h O

ga =
Cos &

sin“d +cos” ad =1




